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E+n x 10 E+3  x 1000
(ke/ ) (ko/ )

1
2 47E+1 47.0 47.0
3
4 82E+0 82 13E+1 130 21.2
5
6 13E+3 13000 63E+4] 630000 64,300.0
7 1.7E+1 17.0 55E+2 550.0 567.0
8 4.1E+1 40.7 7.8E+1 78.0 118.7
9 8.7E+0 87 6.0E-1 06 93
10
11 4.0E+2 4015 4.4E+2 440.2 8417
12 5 6E+3 56201 24E+3 23802 8,0003
13
14 35E+3 35000 25E+0 25 35025
15 44E+2 440.0 24E+2 2400 680.0
16 37E+2 3700 6.9E+3 6,9000 72700
17 8.3E+3 83023 29E+1 285 83308
18 14E+2| 19E+0 1403 | 50E-1] 36E+4| 360032 36,1435
19
20
21 24E+1 24.0 14E+2 140.0 164.0
22 11E+3| 1.0E-1 1,051.3 1,051.3
23 16E+2| 8.0E-1 155.9 6.8E+1 68.0 2239
24 3.1E+2| 1.0E+0 311.0 6.0E+0 6.0 317.0
25 14E+2 144.0 1.2E+2 120.2 264.2
26 20E+1 20.2 70E-1 07 20.9
27 3.7E+1 36.8 7.0E-1] 7.8E+1 78.7 115.5
28 9.2E+2| 3.0E+1 9453 4.2E+2 4155 1,360.8
29 11E+2 1100 1100
30
31
32
33 3.6E+2 357.7 357.7
34 16E+2| 20E+1 180.0 1.0E+0 10 181.0
35 19E+2| 1942 380.0 3800
36
37 8.0E+3 8,0000 8,0000
38 30E+2| 30E+2 6000 600.0
39
40 11E+2 1100 44E+4| 440000 44,110.0
41
42
43
44 12E+2 1200 31E+2 3100 4300
45
46
47

3.2E+4| 5.4E+2 32,585.0 1.2E+0] 1.5E+5 154,933.3 187,518.3
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